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1. Select the correct affarmative sentence of the following negative sentence.
‘He is so weak that he can not walk.’
(A) He is very weak to walk Mle is too weak to walk
(C) He is unable to walk (D) He is weak for walking
2 Which pair of present, past and past participant is correct ?
(A) Die - Dead - Dead (B) Give - Given - Got
(C) Take - Taken - Took \ﬂf Cut - Cut - Cut
3. A word placed before a noun or a pronoun to show its relation with some other word in a sentence
is ?
(A) Adjective (B) Adverb WPreposition (D) Verb
4. The sentence ‘I shall be forty six next Sunday’ is a
Simple future tense (B) Countinuous future tense
(C) Perfect future tense (D) Simple present tense
5. The future perfect continuous tense of ‘I shall play’ is ?
\\Uﬂ/l[shall have been playing (B) I shall be playing
(C) I should have playing (D) I am playing
6. Which pair of singular and plural word is incorrect 2
(A) Village - Villages (B) Hero - Heros } Ox - Oxes (D) Loaf - Loaves
e “The letter was posted by Rajan’ is a passive sentence of.
W Rajan posted a letter (B) Rajan went to post a letter
(C) Rajan would post a letter (D) Rajan was posting a letter
8. Select the correct indirect speech of the following sentence.

The stranger said to me, ‘Please help me.’
(A) The stranger told me to help him
(B) The stranger asked me to help J
(C).The stranger request that I should help him
The stranger requested me to help him
9. What is the singular of ‘Children’ s

(A) Childrens W Child (C) Childre (D) Cheeldr
10. What is the plural of ‘Baby’ ?
Babies (B) Babys (C) Babyies (D) Babes
11.  Fill the blank with correct option.
He is as as Ram.
S tall (B) taller (C) braver (D) tallest
12.  Fill the blank with proper options.
He js weak walk
) too, to (B) too, too (C) to, to (D) to, too
13.  Select the appropriate word for the blank.
~ This is the place he was born.
(A) what (B) when (C) how \/6 where
14, Palus ud'd »ide gan’?
(A) Decisive vote (B) Final vote \5% Casting vote (D) Ordered vote
15.  What is the adverb of ‘Luck *?
(A) Il Luck Luckily (C) Un Luck (D) Lucklative
16. Gujarati translation of the word ‘Absorption’ is ?
(A) udrinle, nalgud Aud (B) us clledl, us Aodlugy
) AHIAY, AU (D) dAlws
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Ramayana is famous epic, select the appropriate option,
(A) A, the (B) An, the (OAA ¥) The, a
Pick up the synonyms of the following word. ‘Compound’
(A) to emphasize (B) To Confuse \Jf??l‘u put together . (D) To compress
Fill the blank with correct option.
She is a girl name is Sita.
(A) his (B) him \.(Q_‘ﬁler D) its
Select the correct option.

What is the comperative fopnf of “Much” ?
(A) Mucher leore (C) Many (D) Morer

Ram is 6 years old, and his father’s age is 30 years. After 6 years what will be their total age ?
" (A) 46 years (B) 36 years Ms years (D) 54 years
Which pair of ABC will be appropriate in the following squares respectively.
12([A]| [5]|8 Cl4
11(10( |B[10| | 6|5
A-3,B-2,C-1 (B) A-6,B-7, C-9 (C) A-8,B4,C-7 (D) A-10, B-6, C-3
If BED minus BAD = 40, Than CAB minus BEE = ..2..
(A) 75 \ (B) 47 © 67 ) {‘yjﬁ?
Select the correct answer for ?
7=42,6=30,5=20,3=..2.
(A) 15 (B) 18 © 12 6
Find out how many times is ‘3’ between 6 and 9 in the following figures:
783496741639835493621345639786396435 \u‘g/
(A) One time (B) Four time (C) Two times Three times
Find out the interest of 146 days of Rs. 124100 at the interest rate of 10% ?
(A) 6449 (B) 4669 (C) 4848 4964
Which will be the correct pair in the following pair group.
171-19,152- 38,133 - 57, .2.. - .2.
(A) 128 - 46 (B) 144 - 64 \_Aét -76 (D) 196 - 95
Select the correct answer in the following series.
289,256, 225, 196, ..2..
V‘A{ﬁig (B) 186 (C) 208 (D) 156
If BADC : XWZY, then FEHG : ..2..
(A) VXRT (B) TSUV U,(é{ YXCV (D) VXSW
What is the least number that can be added to the number 1020 to make it a perfect square.
(A) 65 (B) 12 (C) 59 W 4
( ¥+ 32=54
(A)18 (B) 2744 (C) 1728 \146*12
Find the least number of 5 djgits which is exactly divisible by 12, 15 and 18.
(A) 10805 MOGSG (C) 10025 (D) 11080
The average of five numbers is 9, and the average of the last three numbers is 5. Find the average
number of the first two numbers.
(A) 30 B) 45 W (D) 20
Find out the correct option for ..:..
2, 6,12, 20, 30, 42, ..2..

(A) 50 (B) 52 (C) 54 w{ﬁ
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If selling price is doubled the profit triples. Find the profit percent ? i

2 o 1
(a) 665 \w{ 100 (C) 1053 (D) 120
If crow is parrot, parrot is Sparrow, sparrow is a dove and dove is swan, what is the colour of
parrot ?
(A) Black \ B White - (C) Yellow (D) Brown

A is a father of C and D. B is a mother of C and D. D is a son of A and B, but C is not a son of A and
B. So, who is ‘C’?

(A) Cousin of D (B) Brother of D

(C) Nephew of A and B U«D’) Daughter of A and B

If “COVALENT" is ‘BWPDUOFM’ than ‘ELEPHANT”? will be i, .
(A) MFUIQRTW QMUBIADH (C) QFMFUOBI (D) EPHMTEAS
The next term in the series ABD, DGK, HMS, MTB, ..2.. is.

(A)RUH (B) NSA SBL (D) PSK

In the sereis 1, 6, 15, 28, 45, ..2.. The next term will be ?

(A) 84 ) 66 (C) 76 (D) 56

Choose the word that is a necessary part of the following word.

* harvest ,

(A) autumn (B) stockpile (C) tractor Wrop

Here are some words translated from an artificial language.
gorblflur means fan belt
pixngorbl means ceiling fan
arthtusl means tile roof

Which word could mean “ceiling tile” ?

(A) gorbltusl (B) flurgorbl (C) arthflur (D) pixnarth
Who was the founder of Harijan Sevak Sangh ? g
(A).Dr. B. R. Ambedkar (B) Shri Kashiram
C) Mahatma Gandhi (D) Vinoba Bhave
Simla is a capital of which state of India ?
(A) Haryana (B) Punjab
) Himachal Pradesh i 55 * (D) Chattisgarh
An accurate clock shows 8 o'clock in the morning. Through how may degrees will the hour hand
rotate when the clock shows 2 o'clock in the afternoon?
(A) 144° (B) 150° (C) 168° \uﬂ)/180°
A clock is started at noon. By 10 minutes past 5, the hour hand has turned through:
(A) 145° (B) 150° ’ WYISSQ (D) 160°
Find the correctly spelt word.
ifficient (B) Treatmeant (C) Beterment (D) Employd
. Find the correctly spelt word.
\$A))|Foreign (B) Foreine (C) Fariegn (D) Forein
Find the correctly spelt word.
(A) Benefitted (B) Benifited Wﬁienefited (D) Benefeted
Find the correctly spelt word.
(A) Forcast (B) Forecaste (C) Forcaust MOrecast

Read ABC parts of sentence to find out grammatical error if any, otherwise select ‘D’ as the answer.
(Ignore the errors of punctuation, if any).

(A) The students were ‘;(Bf awaiting for
(C) the arrival of the chief guest. (D) No error.
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Read ABC parts of sentence to find out grammatical error if any, otherwise select ‘D’ as the answer.
(Ignore the errors of punctuation, if any).
(A) You can get Mthe information that you want
(C) in this book. (D) No error.
Read ABC parts of sentence to find out grammatical error if any, otherwise select ‘D’ as the answer.
(Ignore the errors of punctuation, if any).
(A) Do the roses in your garden smell L(Bf more sweetly
(C) than those in ours ? (D) No error.
Read ABC parts of sentence to find out grammatical error if any, otherwise select ‘D’ as the answer.
(Ignore the errors of punctuation, if any).
(A) The Indian radio
(B) which was previously controlled by the British rulers
\_(2%: free now from the narrow vested interests.
(D) No error.
Read ABC parts of sentence to find out grammatical error if any, otherwise select ‘D’ as the answer.
(Ignore the errors of punctuation, if any).
7 ¢} have got (B) my M.Sc. degree  (C) in 1988. (D) No error.
Read ABC parts of sentence to find out grammatical error if any, otherwise select ‘D’ as the answer.
(Ignore the errors of punctuation, if any). ,
(A) If I had known (B) this yesterday
I will have helped him. (D) No error.
Read ABC parts of sentence to find out grammatical error if any, otherwise select ‘D’ as the answer.
(Ignore the errors of punctuation, if any).
(A) Having received your letter (B) this morning, we are writing
(C) to thank you for the same. Ma error.
Read ABC parts of sentence to find out grammatical error if any, otherwise select 'D' as the answer.
(Ignore the errors of punctuation, if any).
(A) If you lend him a book (B) he will lend it to some one else
) and never you will get it back. (D) No error.
In a sentence given below, some parts have been jumbled up. Rearrange these parts which are
labeled P, Q, R and S to produce the correct sentence. Choose the proper sequence.
When he
P : did not know
Q : he was nervous and
R : heard the hue and cry at midnight
S : what to do
\,(o(ﬁ{QPS (B) QSPR (C) SQPR (D) PQRS
In a sentence given below, some parts have been jumbled up. Rearrange these parts which are

labeled P, Q, R and S to produce the correct sentence. Choose the proper sequence.
It has been established that
P : Einstein was
Q : although a great scientist
R : weak in arithmetic
S : right from his schopl days
(A) SRPQ QPRS (C) QPSR (D) RQPS
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In a sentence given below, some parts have been jumbled up. Rearrange these parts-which are
labeled P, Q, R and S to produce the correct sentence. Choose the proper sequence.
Then
P : it struck me
Q : of course
R : suitable it was
S : how eminently
(A) SPQR (B) QSRP \ & PSRQ (D) QPSR
In a sentence given below, some parts have been jumbled up. Rearrange these parts which are
labeled P, Q, R and S to produce the correct sentence. Choose the proper sequence.
I read an advertisement that said
P : posh, air-conditioned
Q : gentleman of taste
R : are available for
S : fully furnished reoms
(A) PQRS WK’SRQ (C) PSQR (D) SRPQ
If “LIBRARY” is “YRARBIL”, then “JOURNAL” iS e
(A) UOJRNAL (B) NALUROJ (C) URNALOJ WANRUOJ
In a sentence given below, some parts have been jumbled up. Rearrange these parts which are
labeled P, Q, R and S to produce the correct sentence. Choose the proper sequence.
Since the beginning of history
P : have managed to catch
Q : the Eskimos and Red Indians
R : by a very difficulty method
S : a few specimens of this aquatic animal
(A) QRPS (B) SQPR (C) SQRP \MPSR
Pick out the most effective word(s) from the given word(s) to fill in the blank to make the sentence
meaningfully complete.
Capehing the earlier train will give us the to do some shopping.
\J&zance © (B) luck (C) possibility (D) occasion
Pick out the most effective word(s) from the given word(s) to fill in the blank to make the sentence
meaningfully complete.
Isawa of cows in the field.
(A) group M:rd (C) swarm (D) flock
Pick out the most effective word(s) from the given word(s) to fill in the blank to make the sentence
meaningfully complete.
The grapes are now enough to be picked.
(A) ready (B) mature WPC (D) advanced
Pick out the most effective word(s) from the given word(s) to fill in the blank to make the sentence
meaningfully complete.
Success in this examination depends hard work alone.
(A) at (B) over (C) for \_(%1
Pick out the most effective word(s) from the given word(s) to fill in the blank to make the sentence

meaningfully complete.
My uncle decided to take and my sister to the market.
A1 (B) mine () me (D) myself
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70.  Pick out the most effective word(s) from the given word(s) to fill in the blank to make the sentence
meaningfully complete.

Piyush behaves strangely at times and, therefore, nobody gets _ with him.

(A) about (B) through long () up
71, ‘A Uvfll Gua uuRl F5di 4 Al - sdl e B ?

(A) adid [es (B) ydl e Hstsirdl (D) RrwRe
72 ‘bald oi8igR, Ge A ARaL’ - sUL AESR 6 7

A 1%l (B) Guwt (C) =&N (D) uldRs

73, ‘soll-uiofl adl ona, Yl wiel aza o’ - 53l e ¢ ?

(A) €831 (B) Guanld \,(,eﬁimtts (D) A4RU
74, A el ? ALl

(A) Guug (B) sHRU (C) vt \um/[a{;,
75, UH-AHR SUL QA O T

) By \JB ¢ (C) sH{uRu (D) ougslR
76.  ‘Guarard [Azgell o i ?

(A) GrHiae (B) lara Yailaa (D) Gtajaza
77. A siddel [Qgiell o€l 58§ A w=ll 4l ?

(A) U4 X A (B) au x 9l upr@ilw'x YRl (D) 212143 X AAAS
78. 1AL Y4 sul ave <A’ aoe-l ar-udl aog 44l ?

(A) %l (B) gl (C) AURIAR W’Qa
79.  ‘alet’l =l 2R 55 ?

(A) 14 + 23l qa + Glal (O) Al + Bal (D) -: + dial
80. A calde e x4 d-) s34l iR WA 55 A 2w 69 ?

(A) Bgaln = Y+ t9+3un (B) A9 = 9%+ 69+ AR

(C) %9 = 2 + 49 UQ)/:lutaida =0+ R
81.  -llal Yy Avel i1 Al A Yg Aol Ad2AHiA) 215 A WA ), d 55 AN D ?

(A) U%%L HIRA : AFAT LByl vl : am alsd wad

(C) YrRAld : ¥ld, (D) A8 oL A : AL 530
82,  ‘yurondl yriu-ll ald’ sul meisiz © 7

(A) 2u%gd Gellau (C) a7 (D) Gu
83, Helsidl 98 el AlA-u WA sul [Aseu wiou 8 ?

(A) ¥ U AU V@Bfnom«mou (C)nMuuy PR R
84. ‘Auugell’ ave-dl Al Ay sul ?

(A) A@ER (B) 2aUSIR ueﬁ@ugbiq (D) Awd

85.. A uoelnid)l sut ave-l Aell W&l & ?
(A) 4 (B) W2 (C) A2l \_,m@
86.  WH &l ¢u Yy dl R 2l e, d [A-u 515 Ad 20 e el A8 Wil - 53l e ) ?

(A) wga [A4Rq mﬁq (C) arid [das (D) el
87. +ld »ulen 921l el A d-u vl A4l WL 56 AL WA S ?

(A) AN = udpf2 (B) Gwia, — ollw {al

(C) Ud% — USLAYSA § AN,/ AU w‘{:ﬁq — il - 54
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g8, 04 calad) aveuye A - 2s aoe-D AN 56 AL el Al ? "

(A) Wil 2 YeuRdl — SUHYRRU B) 82 Rau awf — 26 Rl b
(C) Ssi A — Stz BT e 8l o Al A — e
g9, o) oot qradl 3Euladl el 2ol g !
(A) ol &3 %, (a2t Wet 4 53¢ (B) @™ gid 23 wud) %l
Uz{ sl Godl s, 1L wsdl (D) DM AN AL U™ £l

00, 3 eafde 3Ruela 2 At 2ol Adlwilad 58 AQ WA D ?
(A) @a 4 g — @d sanad adly Garadl €l3d, |
B aluati Qall opag wt g — gell vileau s opafl-tatill Wil stean-dl S edl
(©) 9% ¥l — Al s+l Al Sl
(D) Ag AL 6L ag — Uldirll Al U85 g
o1, (A eaden aediniql s aoe-dl Al Al 8 ?
AT 3undl ®) aelDidl (C) Yus. D) [Madl
92. The National sport day of India celebrated on 29th August is the birthday of which legendary
sports person ?

Dhyan Chand (Hockey) (B) Milkha Singh

(C)P. T. Usha (D) Dara Singh

93. ‘Zika’ virus is related to ? '
Health (B) Computer (C) Drugs (D) Pestisides
94. Which city of India is a most polluted city ?
) New Delhi (B) Mumbai (C) Bhubaneshwar (D) Kolakatta

95. The festival of Dipawali in the year A.D. 2018 (Vikram Samvat 2074) will be on ?

(A) Ashvin Shukla - 15, October 2018 »@K;hvin Krishna - 30, November 2018

(C) Ashvin Krishna - 30, October 2018 (D) Ashvin Shukla - 15, November 2018
96. Below is a pair of city and its ancient / or other name. Which pair is not correct ?

(A) Delhi - Indraprastha (B) Varanasi - Kashi

\;g) Bharuch — Stambhtirth (D) Hydrabad — Bhagyanagar
97. “Aashta Pradhan Mandal’ is connected with which Ruler ?
) Chhatrapati Shivaji Maharaj (B) Samrat Chandragupt

(C) Prithviraj Chauhan (D) Maharaja Ranjitsinh
98. Who wote ‘Bharatiya Itihas ke 6 Swarnim Prishta’ ( SR ghEmd & B: @uita 9g) ?

(A) Bal Gangadhar Tilak (B) Pr. Keshavrao Hedgewar

(C) Shyama Prasad Mookharjee \,_,ﬂi]/\)finayak D. Savarkar
99. Bhrugu Samhita ( STHfEAT) is related with ..2..

(A) Mathematics (B) Demography W(J. yotish Vidya (D) Horticulture

-100. What was the real (original) name of Indian allrounder cricketer “Vinu Mankad’ ?

(A) Ashok Mankad \M’lulvantray Mankad

(C) Rahul Mankad (D) Ushakant Mankad
101. In Gujarat, Social Justice Committee (Samajik Nyay Samiti) is mendatory at which Panchayat

level ?

(A) Only at Taluka Panchayat level

(B) Only at Taluka & Districts Panchayat level

& Village Panchayat, Taluka Panchayat & District Panchayat
(D) Only at District Panchayat
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102.“;2:&1110“ quotation ‘ST sy sty wRafa’ was quoted by

Lord Rama (B) Lord Krishna

(C) Guru Govindsingh (D) Acharya Chanakya
103. Select the name of the author who wrote ‘Geeta Rahgsya’ during imprisionment (in jail)

(A) Vinayak Savarkar \A!ﬁ:ll Gangadhar Tilak

(C) Acharya Vinoba Bhave (D) Acharya J. B. Kripalani
104. Which veda is importment for Indian music ?

(A) Rig Veda (B) Yajur Veda Wma Veda (D) Atharva Veda
105. The pattle of Haldighati was fought in the year ?

\‘w(‘ ) 1576 (B) 1566 (C) 1657 (D) 1578

106. Gautam Buddha's first sermon is called as ?

(A) Nava Janma Parivartana (B) Atma Chakra Parivartana

\j()Dharma Chakra Parivartana (D) Satya Chakra Parivartana
107. In the year 1857 who fight with Britishers for freedom from Jagdishpur ?
) Veer Kunvarsingh (B) Veer Ramsingh

(C) Veer Bahadursingh - (D) Veer Parakramsingh
108. Vivekanand Rock Memorial is situated in which state ?

(A) Kerala (B) Anadra Pradesh (C) Telangana Mmil Nadu
109. What is the full form of NRHM (Related to Health)

(A) National Region Health Management National Rural Health Mission

(C) National Regulatory Health Mission (D) National Rurban Health Machinery
110. ‘Kaziranga’ National park is situated in ?

(A) Meghalaya uﬂﬁssam (C) Madhya Pradesh (D) Karnataka
111. In Gujarat, under the Government scheme ‘Kunvarbhai nu mameru’ the entitled benificiries will

get revised financial assistance of Rs. ?

(A) Rs. 7,500/- (B) Rs. 9,000/- (C) Rs. 10,000/- Wﬁs. 12,000/-

112. Which Institution was established by Government of India to fulfill the financial requirements of
Industrial Development ?
(A) Industrial Fainancial Corporation of India Ltd. (IFCILtd)
(B) Industrial Credit & Investment Corporation of India Ltd. (ICICIL)
(C) State Finance Corporation
Industrial Development Bank of India Ltd. (IDBI)
IIS.WI Article of constitution deals with equality of opportunity ‘in public employment’ ?

Article - 16 (B) Article - 25 (C) Article - 14 (D) Article -5
114. Indian has a costal line of km including Lakshadweep and Andaman & Nicobar Islands.
(A) 9238.7 km 7516.6 km (C) 5776.6 km (D) 8796.4 km
115. Green House effect is caused by
(A) CO, Only

(B) CO, CO, vapours and CFC

\%LCH., N,O and CO,
yA(D) Any gases which absorb the infrared heat reflacted from earth

116. Thg capital of ‘Telangana’ state is ?
%Hyderabad (B) Amaravati (C) Maheboob Nagar (D) Mangalore
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117. In the context of Indian constitution, The Union council Ministers shall be collectively responsible

to the .
(A) Chief Justice, Supreme court of India yﬁdok Sabha

(C) Prime Minister (D) Vice President of India
118. Recently a petition has been filed in supreme court (SC) by a Kashmiri woman, Who has been
denied the right to property in the state by virtue of ticles of our constitution.
(A) Articles - 370 (B) Articles - 30 \(2f Articles - 35A (D) Article - 368
119. Which Articles has been added in Indian constitution as a ‘Right to Education’
\jﬂ&ticles -21A (B) Articles - 35 (C) Articles - 14 (D) Article - 17
120. A gradual change in the manner of population growth occuring over a long period of the time is
known as ;
(A) Demographic transition (B) Population explosion
(C) Demographic dynamism \,(Bﬁ)cmographic transformation

121. In Gujarat, which Government department implements the ‘Janani Suraksha Yojna’?
(A) Woman & child development department (B) Social Justice & Empowerment department

Health & family welfare department (D) Finance departments
122. In Gujarat ‘Shramik Suraksha Yojna’ is implemented by ?
Labour & employment department (B) General administration department
(C) Revenue department (D) Social justice & empowerment department
123. The President of India can not declare emergency in which circumstances.
(A) Threat of war

(B) Break down of constitutional machinery in any state of India
(C) Armed rebellion threatening security of India
On advise of cabinet secretary of central Government
124. at is the full form of NASA's asteroid - chasing space craft ‘OSIRIS - REX’
) Origins, Spectral Interpretation, Resource Indetification Security Regolith Explorer

(B) Origins Satelitte Investigation Interference South Regional Explorer

(C) Organs Space Institute of Real Identification, Security Regolith Explorer

(D) Original Space Invention Resource Identification Social region Explorer
125. According to Directo General of Commerce Intelligence & Statestics the export of textiles and

Goyernments has shown a increase of % during 2014-15 to 2016-17.
\ﬁ()v;l% (B) 6.7% O 13% (D) 4.9%
126. What is the designation of police department head in Gujarat state ?
(A) Inspector General of Police (B) State Commissionor of Police
) Diretor General of Police (D) Controller General of Police
127. In the constitution of India, Article - 51A is related to.?
(A) Fundamental Rights \Msndamental Duties
(C) Cultural and Educational Rights (D) Council of Ministers
“128. ‘CPU’ is the brain of computer system. The full form of CPU is ?
(A) Controlled Progress Unit (B) Centrally Preparation Unit
) Central Processing Unit (D) Controlled Process Unit

129. Which pair of eminent personality and his birth day is not correct ?
. Swami Vivekanand - 14" January
(B) Dr. B. R. Ambedkar - 14" April
(C) Dr. Sarvapalli Radhakrishna - 5th September
(D) Sardar Vallabhbhai Patel - 315t October

oo e
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130. Which pair of woman Chief Minister and concern state in India is wrong ?

(A) Shrimati Anandiben Patel - Gujarat (B) Su Shri Mayawati - Uttar Pradesh
(C) Shrimati Sushma Swaraj - Delhi Su Shri Uma Bharati - Chhattishgadh
131. Recently who has been appointed as a chair person of Central Board of Secondary Education
(CBSE) ?
\,uﬂ)MJs. Anita Karwal, LA.S. (B) Ms. Sunayana Tomar, L.A.S.
(C) M. Jayanti Ravi, LA.S. (D) Ms. Anuradha Mall, LA.S,
132. Who has been appointes as a Comptroller and Auditor General (CAG) of India in September
2017 ?
(A) Vinod Ray (B) Trilokinath Chaturvedi
Rajiv Mehrishi (D) Rajni Kant Sharma
133. On 25 September 2017, Prime Minister Shri Narendra Modi launched ‘Saubhagya Yojna’, it is
releted to -

Electricity connectivity to house holders
(B) Irrigation facility to the farmers of Uttar Pradesh
(C) Social security scheme of widow women (Below Poverty Line)
(D) Financial Assistance to B.P.L. (Below Poverty Line) girls above 18 for marriage

134. The proposed Bullet train (from Ahmedabad to Mumbai) will pass kilometer distance.
(A) 480 kilometers (B) 522 kilometers 508 kilometers (D) 488 kilometers
135. The Sardar Sarovar Dam is a gravity dam, is termed as India’s dam and world’s
dam.
\5,(46 biggest, 2nd largest (B) biggest, 4th largest
(C) 2nd biggest, 3rd largest (D) 3rd biggest, 4th largest
136. Ms. P. V. Sindhu has not won which of the following Award.
(A) Arjun Award (B) Padma Shri Award
(O) Rajiv Gandhi Khel Ratna Award Dronacharya Award

137. In October 2017, Vice President of India laid the foundation stone for the first phase of the
2890 km. National water way 4 (NW 4) and dedicated 13 National Highway (NH) projects worth

Rs .
(A) 3,247 Crores (B) 2,743 Crores Mlﬁ Crores (D) 5,413 Crores

138. Which player was declared as a ‘Man of the Match’ in Ranji Trophy Group B match against
Hariyana in November 2017 ?
(A) Piyush Chawla (B) Cheteshwar Pujara
/) Siddharth Desai (D) Parthiv Patel

139. In October 2017, Hon’ble President of India has appointed a commission to examine the
sub-catagorisation of Other Backward Classe (OBCs) to ensure that more backward among the
communities can access the benifits of reservation. The commission is headed by.

) G. Rohini - Retd. Chief Justice of Delhi High Court
(B) Mr. E.S.I. Narasimhan Governor of Telangana
. (€) Justice Swatanter Kumar
(D) Justice Anil Dave (Supreme Court of India)
140. In August 2017, who has been appointed as a new Chief Justice of Supreme Court of India ?

(A) Justice J. S. Varma B Justice Dipak Mishra
(C) Justice J. S. Khehar (D) Justice A. K. Gangoolee
141. Central Government has lauched ‘BHIM’ app recently. The full form of ‘BHIM” is ?
(A) Bharat Investment of Money (B) Bharat's Interest for Money
Bharat Interface for Money (D) Bharatiya Institution for Monetary Purpose
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142. India's first home built submarine INS Kalavari handed over to Indian Army in Se?tqember

at 7
(A) Kochin (B) Chennai (C) Hydrabad ©  \JBf Mumbai

143. Indian Council of Food and Agriculture has awarded ‘Global Agriculture Leadership Award -
2017’ to - ‘

(A) Ratan Tata
(B) Shrivrajsinh Chauhan (Chief Minister, Madhya Pradesh)
@3 K. Chandra Shekar Rao (Chief Minister, Telangana)
(D) Devendra Fadanavis (Chief Minister, Maharashtra)
144. Recently, Goa state has declared free as a state tree.
) Coconut palm (B) Banayan tree (C) Mango tree (D) Palm tree
145. In which state of India, ‘She means business’ programme for women enterpreneurs have been
launched in August-2017 ?
(A) Rajasthan Odisha (C) Punjab (D) Kerala
146. According to sample sarvey conducted by Quality Council of India, which 5 states are best in
‘Swachh’ parameters ? '
(A) Kerala, Odisha, Gujarat, Bihar, Goa
(B) Jharkhand, Bihar, Maharashtra, Karnataka, Uttarakhand
) Kerala, Sikkim, Haryana, Manipur, Nagaland .
(D) Jharkhand, Rajasthan, Bihar, Gujarat, Odisha
147. NASA's ground hreaki:\:lg':;yﬂger-z, mission entered in which year in August-2017 ?

(A) 20th year 40th year (C) 50th year (D) 10th year
148. Hollongi (Arunachal Pradesh) have been selected as a recently.
(A) New Railway Station : (B) New Port .
New greenfield Air Port (D) New Capital of Arunachal Pradesh
149. Who has been appointed as a new Vice Chairman of the NITI Aayog ?
(A) Raghu Ram Rajan (B) Arvind Panagariya
(C) Arun Chakraborty Mﬂjiv Kumar

150. In August-2017, who launched Union Sports Ministry's ‘National Sports Talent Search Portal’ in
New Delhi ?
&) Vice President - Venkaiah Naidu (B) President Shri Ram Nath Kovid
(C) Prime Minister Shri Narendra Modi (D) Finance Minister Shri Arun Jetly
151. InAugust 2017, the union minister for petroleum and Natural gas has commissioned in¢
Indian coast gaurd offshore petrol vessel in Goa.

(A) ‘Shakti’ B) ‘Shaurya’ (C) “‘Agni’ (D) “Trishul’
152. Which state will be the first state to use EVMs with VVPAT machines on all booths during assembly
elections ? '
(A) Assam \Miimachal Pradesh
- (C) Madhya Pradesh (D) Rajasthan
153. The renowned Indian Badminton legend has been selected for the firs life time award by
Badminton Association of India (BAI).
(A) ela Gopichand (B) Syed Modi
Prakash Padukone (D) Chetan Anand
154. The ___ Government and Mother Dairy have signed a lease agreement to set up a state of-
the-art milk and milk products processing plant.
(A) Uttar Pradesh (B) Rajasthan Maharashtra (D) Karnataka
155. India's first lithium-iron battery facility unit will be set up in .
(A) Maharashtra \(-(B}B‘ujarat (C) Goa (D) Madhya Pradesh
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156\.\}0"!}' Marshal of thé Indian Air Force, passed away recently. Name him.
)

Arjan Singh (B) Sam Manekshaw  (C) Jual Oram (D) K. M. Carriappa
157. Who receives the prestigious Gyanpith award 2017 ?
(A) Shankha Ghosh (B) Sankara Kurup ) Krishna Sobti (D) Ashapoorna Devi
158. is the governor of Reserve Bank of India (RBI) ?
mhﬁt Patel (B) Ajay Thyagi (C) Raghuram Rajan (D) U. K. Sinha
159. Which city has won the Best City Bus Services Award of Government of India ?
(A) Lucknow (B) Mysuru (C) Kochi Murat

160. Which state became the first organic state and now planning to launch its second phase of organic
movement ?

(A) Bihar (B) Goa \ 427 Sikkim (D) Odisha
161. Who has been designated as the new Finance Secretary of India ?
(A) A. K. Dhasmana  (B) Bhaskar Khulbe M{ﬁsmukh Adhia (D) Nripendra Misra
162. Which minister of Bharitya Janta Party won the lead of more than 500 votes in Gujarat Vidhansabha
Election - December 2017.
(A) Bhupendrasinh Chudasma Mtinbhai Patel -
(C) Sankarbhai Chaudhary (D) Pradipsinh Jadeja
163. Centre has alloted Rs. 60,000 Crores to interlink rivers in o
, \\.,(A))[\fleaharashtra (B) Rajasthan (C) Gujarat (D) Karnataka
164. Which state has become the first Indian state to approve e-vehicle policy ?
(A) Delhi (B) Rajasthan (C) Gujarat \M Karnataka
165. Who among the following has been appointed as the new chief of Sashastra Seema Bal ?
(A) Archana Ramasundaram (B) Emandi Sankara Rao
(C) Debasis Jana .4D) Rajni Kant Mishra
166. In August 2017 who was elected as a new Prime Minster of Pakistan ?
(A) Nawaz Sharif (B) Ishaq Dar
(C) Kwaja Asif MShahid Khagan Abbasi

167. In 9th BRICS summit held in China in September 2017, China also signed the statement naming
two (2) terrorists groups. They are ?

(A) Hizabul Mujhahiddin & LS.1L. ’\A Lashkar-e-Taiba & Jaish-e-Mohammad
(C) Lashkar-e-Taiba & S.I.ML.L (D) Al-Qaeda & Jaish-e-Mohammad
168. In world food festival held at New Delhi in - 2017 Kg ‘Khichadi’ was prepared is a for
Guinness World Record.
(A) 837 Kg \Als Kg (C) 1096 Kg (D) 718 Kg
169. Recently which Indian player got silver medal in Commonwealth Shooting ?
(A) Annu Rajsinh (B) Suresh Kushale “Q}G.:;an Narang (D) Jitu Ray

170. Which Indian female player made 3 (three) goals in Women's Asia Cup Hockey Torunament in
November 2017 against Kazakistan ?
Gurjeet (B) Deep Grace Ekka (C) Navneet Kaur (D) Manjita Kaur
171. Which Indian film actress was felicitated with Lifetime Achivement Award for her contribution
the field of cinema at DC South Asia Film Festivalheld in US in September 2017 ?
(A) Sharmila Tagore (B) Paraveen Baabi \xﬁ};?jeenat Aman (D) Asha Parekh
172. Eminent Scientist and Bharat Ratna Awardee was chosen for 2017 Von Hippel Award,
the highest international prize in material research in September 2017.
(A) Dr. Vikram Sarabhai \ym/l‘:rof. C.N.R. Rao
(C) Dr. A.P.J. Abdul Kalam (D) Dr. Homi Bhabha
173. Joint India - US military exercise Yudh Abhyas - 2017 held at which place ?
/ ) Joint Base Lewis McChord, Washingion (B) National Defence Academy, Khadakwasla
(C) ‘Wagha’ border of India (D) Military Institution, Daheradun
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174. ' China signed statement naming LashKar-e-Taiba and Jaish-e-Mohemmad in BRICS Suminlit 2017

was held in ?
(A) Tashquand (Russia) Miamen (China)
(C) Moscow (Russia) - (D) Bengaluru (India)
175. Australia emerged champion of 2017 FIBA Asia Cup in title.
(A) Badminton (B) Chess Pﬁ_‘ﬁasket ball (D) Golf
176. Who emerged champion of the 2017 World Badminton Championship women's single crown ?
Nozomi Okuhara (Japan) (B) Saina Nehwal (India)
(C) Sayaka Hirota (Japan) (D) Jia Yifan (China)

177. America launched a satellite to help astranauts communicate which the earth recently. The name
of satellite is P
(A) BTDR - A \JJ)(TDRS -M (CO)RBTS-N (D) TDRS -Z

178. Which company has entered into alliance with US car major Ford Motor company to explore
products, technologies, and distribution ?

(A) Tata Motors (B) Hyundai Motor India
(C) Maruti Suzuki \(B¥Mahindra & Mahindra
179. Which spiritual leader has been chossen for the Asia Game Changer Life Time Achievement Award ?
(A) Shri Shri Ravishankar (B) Mother Terressa
(C) Baba Ramdeviji "Shri Aga Khan
180. govt has signed a MoU with Google India to take internet connectivity to the remotest
part of the state.
(A) Mizorum (B) Manipur \,éAssam (D) Sikkim
181. Recently Shri hasbeen appointed as a Minister in Pakistan government.
A) Darshan Lal (B) Roshan Lal (C) Anil Dalpat (D) Kishan Lal

182. In which month United States formally communicated to the UN its intent to withdraw from Paris
Agreemnt on climate ?

(A) July - 2017 (B) October - 2017 (C) September -2017 '\]épﬁ/August -2017
183. InAugust 2017 which organisation unanimously imposed new sanctions on North Korea that could
slashed by a third the Asian State’s $ 3 billion annual export revenue over Pyongyang’s two

intercontinental ballistic missile test in July - 2017 ?
(A) International Monetary Fund Mnited Nations Security Council

(C) World Bank (D) International Court of Justice
184. German Chancellor Angela Markel recently Re-elected for term.
. (A) 3rd term (B) 2nd term \\,}Eﬁft‘lll term (D) 5th term
185. Who among the following has won the Mixed Doubles 2017 US Open (tennis) ?
\,ﬂﬁ‘Martina Hingis and Jamie Murray (B) Sloane Stephens and Jamie Murray
(C) Karolina Pliskova and Jamie Murray (D) Kaia Kanepi and Jamine Murray
186. Whe has been elected as a Singapore’s first woman President ?
\,(f.g)‘liialimah Yacob (B) Fatimah Yacob
) (C) Shakila Farooqui (D) Jhubeda Akhtar
187. Where is the headquarters of the International Consortium of Investigative Journalists (ICLJ) ?
(A) Paris ) Washington DC~ (C) Geneva (D) Warsaw

188. During the third week of December 2017 armed terrorist attacked on church & about 8§ persons
were killed & nearly 44 were “njured took place in ywhich country ?

(A) Afghanistan ’ w Iran ) Pakistan (D) Syria

189. Which company has been recognised in Fourtune’s annual list of the top 50 companies that are
changing the world ? o - ,
(A) JP Morgan Chase (B) Infosys (C) Microsoft * = \;a))/Tcs
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190. International Yoga Festival and International Yoga Sports Championship 2017 was organised in

(A) Uttar Pradesh (B) Gujarat (C) Delhi ashmir
191. The University Grants Commission (UGC) has recently constituted a panel to discuss new measures
for praintainence of standards in higher education. Who is the Chairman of this panel ?
) Professor Sunilkumar Gupta (B) Professor Shri Prakash Singh
(C) Shri Murlidhar Govindrao Chandekar (D) Professor R. C. Kuhad
192. What is the full form of ‘NAAC’ ?
(A) National Acadamic and Assessment Commission
(B) Northan Acadamic and Accreditation Commission
_(2f National Assessment and Accreditation Council
(D) National Assessment and Accountable Council

193. Whgyt'is the full form of ‘IQAC’ ?
Mﬂemal Quality Assurance Cell (B) Integrated Quality Assurance Commission
(C) Internal Quality Assurance Compound (D) Integrated Quality Academic Council
194. Who is the Principal, Academic and Administttij;g/otﬁccr of the University ?

(A) Registrar ; Vice Chancellor
(C) Head of the Department (D) Dean
195. Who is the Chancellor of Gujarat Technological UniyeTsity (GTU) ?
(A) Chief Secretary of Gujarat \}Pm}:}e{:vel'ner of Gujarat

(C) Director of Technical Education Board (D) Education Minister of Gujarat
196. Who is empowered to appoint the registrar of the Gujarat Technological University (GTU) ?
(A) Honarable Governer on recommendation of Academic committee
Vice Chancellor on recommendation of Selection committee
(C) Education Minister on recommendation of Selection committee
(D) Director of Technical Education Board on recommendation of Academic committee
197. Which of the following are Central Universities ?
1. Pondicherry University
2. Vishwa Bharati
3. H.N.B. Garhwal University
4. Kurukshetra University
Seleet the correct answer from the code given below :
\,m)};, 2 and 3 (B)1,3 and 4 (C) 2,3 and 4 (D) 1,2 and 4
198. The ground on which discrimination in admission to educational institutions is not constitutionally
probibited is -
)} Nationality (B) Language (C) Place of Birth (D) Gender
199. Which of the following is not statutory body ?
(A) AICTE (All India Council for Technical Education)
MAAC (National Assessement and Acereditation Council)
(C) UGC (University Grant Commission)
(D) UPSC (Union Public Service Commission)
200. Which of the following institutions are NOT empowered to confer or grant degrees under the UGC
Act, 1956 ?
(A) Auniversity established by an Act of Parliament.
Mniversity established by a linguistic minority.
(C) A university established by an Act of Legislature.
(D) An institution which is a deemed to be university.
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